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Question 1 (18 points)

Required: Circle the letter corresponding to your response.

1. On December 30, Year 1, Peter Griffin Corporation received merchandise costing $1,000 and
counted it in the December 31 listing of all items on hand. The firm included the cost of the

inventory in its ending inventory on the balance sheet on December 31, Year 1.

1. The firm

received an invoice on January 2, Year 2 and recorded the amount as a Year 2 acquisition. The
firm uses a periodic inventory system. Assume that the firm never discovered its error. What is

the effect-on.the Year 2 endin 7 inventory’
" “A) None. &/B

<g)" verstated by $1,000.
- C) Understated by $1,000.

D) Insufficient Information for Calculation.
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Beginning inventory .............. 10 units at $40

First purchase ..................... 15 units at $55

Second purchase ......coo i 30 units at $70

Third putchase iicisnsvesis 25 units at $65
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Wilkins has 30 hammers on hand at the end of the year. What is the dollar amount of cost of

old for the year according to the first-in, first-out method?
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C) $1,575
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3. Brian Company’s 2011 balance sheet reveals that inventories reported on a LIFO basis are
$5,620 million. In a footnote, management stated that the LIFQ reserve was _&Lnnlhon What
is the total cumulative tax effect of using LIFO given a 35% income tax rate? (

A) $4,676 million
B) $1,967 million
C) $1,635.9 million
D) $944 million
@$330.4 million
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4. Stewie Company purchased a tractor at a cost of $60,000. The tractor has an estimated
residual value of $10,000 and an estimated life of 8 years, or 12,000 hours of operation. The
tractor was purchased on January 1, 2010 and was used 2,400 hours in 2010 and 2,200 hours
in 2011.  What method of depreciation will produce the maximum depreciation expense ig

20107

A) Stright-line and rew
B) Units-of-production Fi  #ebibeg (P ) 4
C))Double-declining-balance (Ua gsoum e j,‘ O«
D) All methods produce the same expense in 2010 ! ( ch [
( SLP I
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5. Meg Industries provides the following information relating to its land, buildings and
equipment:

000’s 2011
Land § 135
Buildings 460
Machinery and equipment 7.340 4% Y
5938 st I
Total accumulated $5,300 “af vtud .
depreciation i
Reported depreciation expense is($520 million for 2011. Calculate the plant assets’
estimated useful life. ~PeC vy
A) 30 years
B) 29.32 years . =
C) 27.55 years G, 26 g: 7
'4;@“‘15_.26 years { ! (O’ / Q y?&fj ("
# E)1p years

6. On January 1, 2010, Chris Corporation issued 100 2-year bonds with face value of $500 per
bond and semi-annual coupon payments of $25 per bond. At the time of bond issuance,
the market interest rate is 10%. There are no other transactions during the period. What
is the ending cash balance of Chris Corporation at the end of year 1, assuming the
beginning balance of cash was $07? I e

o ) 500+ 57645 1 | 73594 50

B) $48,865. 3 T B
” .jcg)$45,000. LH 5[? £ 1 Y, 77
D) $37,075. .
E) Insufficient information for calculation. 6_00,[ OOO aa ;f
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7. What effects would the accrual of $50 of interest on a note payable have on financial

statements?
I. Balance sheet: Liabilities are decreased by $50 (/-
I1. Income statement: Expenses are increased by $50 ".;(J,;

II1. Balance sheet: Retained earnings are decreased by $50 (/)
IV.  Balance sheet: Cash assets are decreased by $50 \// ) N
V. Balance sheet: Liabilities are increased by $50 () Prine Py
A) I, II and III
B) LIl and V
E)IL IV and V
(D_))H, III and IV
E) IVand V

8. Operating leases differ from capital leases in that
For a capital lease the lessee records the lease payments as rent expense, but for an
operating lease the lessee reports the lease payments as depreciation expense.
h\) For an operating lease the lessee depreciates the asset acquired under lease, but for
the capital lease the lessee does not.
- ) Operating leases create a long-term liability on the balance sheet, but capital leases do
not.
K{ \ r, D) Operating lease payments are generally greater than capital lease payments. 77
E)) Operating leases do not transfer ownership of the asset under the lease, but capital
(" leases often do.

9. Why@pec)ple view stock splits as a good thing?
A) Firms received a tax benefit from more shares outstanding.
B) Managers believed their shares are undervalued and issue more shares.
C) Managers believed their shares are overvalued and issue more shares.

Cs_l"he liquidity of the stock increased.

E) There was an optimal price per shares that minimizes transaction costs.

t
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Question 2 (12 points) Inventory

Two companies, the Lastin Company and the Firstin Company, are in the scrap metal
warehousing business as arch competitors. They are about the same size, and in 20X1,

coincidentally encountered seemingly identical operating situations. Only their inventory
accounting systems differed. Lastin uses LIFO, and Firstin uses FIFO. '

For both companies, the beginning inventory was 10,000 tons; it costs $50 per ton. Durmg the
year, each company purchased 50,000 tons at the following prices:

30,000 @ $60 on March 17

20,000 @{70 on October 5

Each company sold 45,000 tons at average prices of $100 per ton. Other expenses in addition to
cost of goods sold, but excluding income taxes, were $600,000. The income tax rate is 40%.

A. Compute the net income for the year for both companies. Show your calculations.
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Question 3 (12 points) Property, Plant and Equipment

Required: Write your answer in the space below:

Botwin Corporation has decided to invest in the hydroponic plant growing business. To do so,
they must secure a production facility and purchase equipment. The CEO of the Corporation,
Nancy, has decided that she needs to build her own custom-made production facility. During the
year, she spends $500,000 for building materials, $300,000 to architects and laborers, fees
related to zoning and inspection for $50,000, and accrued interest payable equal to 10% on a
$1.5 million construction loan, which was secured on January 1, 2010. The building was finally
finished on September 31, 2010. On October 1, Nancy applies and receives approval for a 5-
year, $100,000 loan that she can use to purchase her equipment. The interest rate of the loan is
5%. Nancy uses the second loan to purchase the following equipment by October 30, 2010:
$10,000 in grow lights, $20,000 in exhaust blowers, $50,000 in air filters, and $10,000 in pots. )
QAbs.my ‘ﬁg ¥

(a) Nancy wants to know, what amount of property, plant and equipment is capitalized on the

balance sheet on December 31, 20107 A5 % /nece
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(b) The building is estimated to last for 20 years and Nancy decides to use straight-line

depreciation and estimate that her yearly depreciation expense is $45,000. Nancy decides
that d6%1é~d;ilix‘@lance method is a better way to calculate depreciation expense

for the-equipment, which are only expected to last 5 years and the salvage value is $0.
What is the depreciation expense reported on December 31, 20107 ~ ( f/{ /
e
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(c) Nancy’s business ventures are not as profitable as she had hoped. On June 30, 2011,
Nancy sells all of her equipment to Gu111ermo Garcia for $80 000. What are the journal
entries on Nancy s book on this day‘7 ,,, B qy

Go what (s GIQ]D(()(W fun ( 000 3000 6!000 ) g

@0&0 1 5000 /
14,000
Vele 90,00 2,600 = 77,00
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(d) On October 30, 2011, Nancy receives an offer from Esteban Reyes to purchase the Q5%
building for $1.5 million. She accepts his offer. What are the associated journal entries? u/ §9
%
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Question 4 (16 points) Bonds

Required: Write your answer in the space below. d
005
On December 31, 2009, Veridian Corporation issued $20 million of 4-year, 10% dcgeﬂt-ufes.
The market interest rate at issuance was 8%. On December 31, 2010 (after all interest payments
and amortization had been recorded for 2010), the company purchased all the debentures for $19
million. Throughout their life, the debentures had be},n held by a large insurance company.

/
1. Compute the gain or loss on early extinguishment. [t /ﬂ
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2. What are the journalentriesirecorded on December 31,201 02

(afm 3 /\5905 = Z_;ag;};{l@ t (onf bt A

Don(‘ﬁ { 3, ﬁ ,J\»-
pon &0ds —(3
A ;;;"»} .. P,

0\%%4(/ \ N @wo W

e {d {O[N/g vl
@/ﬁ/{ff; (j,‘ {GJT(; y

oy B ol Boimr

oy eotst =2, 400, 00 ~7194,01)

8

pond
Progat



Question S (24 points) Leases

Bluth Frozen Banana Company is interested in leasing a machine and has identified the
following possible lease that it may acquire.

Lease
Lease term (nonrenewable) 5 years |
Estimated Useful Life of Asset Syears (V|9 LLO
Interest rate implicit in lease 10% (ap / ld ‘
Annual end of year lease payments $150,000 P
Salvage Value of Asset $0

Prior to making this decision and without the lease information, Bluth Frozen Banana
Company has the follow amounts:

e Cash: $1,000,000 (SO LC[ ) ;
e Accounts Receivable: $250,000 /

e Inventories: $500,000 790 /OOO
e Accounts Payable: $900,000

e Wages Payable: $100,000

e Income before lease expenses: $350,000

e Income tax rate 35%
Prepare an independent analyses that includes the assets and liabilities sections of the
balance sheet and an income statement, as well as a comparison of return on asset and return
on equity ratios for Bluth Frozen Banana Company under 2 scenarios: with lease (for only
the first year of leasing) or without lease. Assume équity is $750,000 before considering the
leases and $700,000 when considering the leases. 7\

i

why oot

v '
4
|

O Al babuo slogf



Indicate your solution in the space provided below:
Balance Sheet

With Lease Without Lease
Assets ‘
M ATAVAT. R Z{Oad 6 0
ﬂ)({g,(r{; @"C;WCZb(e 75’0/@0 sy
Lovenlor! o 50000 500,000
Tiota ot L7000y 70000
hosl oy~ L0

vt T 2d0my  Luooa)

Al@als  Paygble ?Of)g,g()o QO0,00V'
0200 100,000
0 d, 1 i { 4
Lease Pograrls =000 ‘“‘Z"

Tolu |, 000, o
Income Statement
Without Lease
Lo befoceloae \- 250,000
L¥peases f O,/

(G(Jée Q?’\F?ﬂj’f)
Mot ey fobe faes e 00—t -3 760,000
P 00 L4
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Question 6 (18 points) Stockholders’ Equity

Part A:

Pritchett Company had the following transactions during 2011:

Year 1:
Year 2:
Year 3:
Year 4:

Year 5:

Pritchett Company sells 20,000 shares of its no-par common stock for $15.

Pritchett Company buys 2,000 shares of its no-par common stock for $12 per share.
Pritchett Company declares and pays a dividend on its no-par common stock of $3
per share. The company’s basic earnings per share were $8 in the third year. (S fq
Pritchett Company declares and pays a stock dividend on its no-par common stock
of $2 per share. The company’s basic earnings per share were $9 in the fourth year.
Pritchett Company purchases 1,000 shares of available for sale securities on

January 1, Year 5, for $50 per share.

security has increased to $55 per share.
Indicate the effect (increase, decrease, no effect) of each of these stock decisions for each
year on the items listed below.

— M@Ms ho (}m’/ﬂ

By December 31, the available for sale
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Part B (Unrelated to Part A) WL\L] s (1 ﬁa baip prb(fﬂ gmck)mx

On June 24, 2010, Waldorf Fashion Company announced that the board of directors has
authorized payment of a regular quarterly cash dividend of $0.15 per common share. The
quarterly dividend is payable on October 26, 2010, to shareholders of record as of the close of
business on October 5, 2010. What are the relevantijournal entries for the events on June 24,
October 5, and October 26? Assume the number of shares outstanding as of May 3l1st is
400,000,000.
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Question 1 (18 points)
Required: Circle the letter corresponding to your response.

1. On December 30, Year 1, Peter Griffin Corporation received merchandise costing $1,000 and
counted it in the December 31 listing of all items on hand. The firm included the cost of the
inventory in its ending inventory on the balance sheet on December 31, Year 1. The firm
received an invoice on January 2, Year 2 and recorded the amount as a Year 2 acquisition. The
firm uses a periodic inventory system. Assume that the firm never discovered its error. What is
the effect on the Year 2 ending inventory?

A) None.

B) Overstated by $1,000.

C) Understated by $1,000.

D) Insufficient Information for Calculation.

Calculation:

The firm uses periodic inventory system and the error was not discovered. That means at the end of Year
2, an inventory count has taken place indicating the correct number of inventory on December 31*. The
cost of goods sold in Year 2 was overstated by $1,000.

2. The following hammers were available for sale during the year for Lois Tools:

Beginning inventory .............. 10 units at $40
Bitstputchase ..o 2 ooe 15 units at $55
Second purchase .........co0eei0 30 units at $70
dhird purchase . .. ..o 25 units at $65

Wilkins has 30 hammers on hand at the end of the year. What is the dollar amount of cost of
goods sold for the year according to the first-in, first-out method?

A) $1,975

B) $2,975

C) $1,575

D) $1,950

Calculation:
(10 + 15 + 30 + 25 units) — 30 units = 50 units sold.
Cost of goods sold = (10 units x $40) + (15 units x $55) + (25 units x $70) = $2,975

3. Brian Company’s 2011 balance sheet reveals that inventories reported on a LIFO basis are
$5,620 million. In a footnote, management stated that the LIFO reserve was $944 million. What
is the total cumulative tax effect of using LIFO given a 35% income tax rate?

A) $4,676 million

B) $1,967 million

C) $1,635.9 million

D) $944 million

E) $330.4 million

Calculation:
Using LIFO has decreased pre-tax profits by $944 due to higher cost of goods sold. Decrease in income
taxes: $944 million = 35% = $330,400,000



4. Stewie Company purchased a tractor at a cost of $60,000. The tractor has an estimated
residual value of $10,000 and an estimated life of 8 years, or 12,000 hours of operation. The
tractor was purchased on January 1, 2010 and was used 2,400 hours in 2010 and 2,200 hours
in 2011. What method of depreciation will produce the maximum depreciation expense in
20107

A) Straight-line

B) Units-of-production

C) Double-declining-balance

D) All methods produce the same expense in 2010

Calculation:

See pages 356-358 of the book for further details.

Straight-line: ($60,000 - $10,000)/ 8 = $6,250 per year

Double-declining balance: $60,000 x (1/8 = 2) = $15,000 for 2010

Units of production: ($60,000 - $10,000) = (2,400 hours / 12,000 hours) = $10,000 for 2010

5. Meg Industries provides the following information relating to its land, buildings and

equipment:

millions 2011

Land $ 135

Buildings 460

Machinery and equipment 7.340
$7.935

Total accumulated $5.300

depreciation

Reported depreciation expense is $520 million for 2011. Calculate the plant assets’
estimated useful life.

A) 30 years

B) 29.32 years

C) 27.55 years

D) 15.26 years

E) 15 years

Calculation:
Land is not depreciated for MAJORITY of firms. We made the assumption that the salvage value is $0

here. Plant assets useful life = Cost of depreciable assets/Depreciation expense = ($7,935 - $135) / $520 =
15 years.

6. On January 1, 2010, Chris Corporation issued 100 2-year bonds with face value of $500 per
bond and semi-annual coupon payments of $25 per bond. At the time of bond issuance,
the market interest rate is 10%. There are no other transactions during the period. What
is the ending cash balance of Chris Corporation at the end of year 1, assuming the
beginning balance of cash was $0?

A) $50,000.
B) $48.,865.
C) $45,000.
D) $37,075.
E) Insufficient information for calculation.



Calculation:

The semi-annual coupon payment is $25 per bond, which means the annual coupon payment is $50 per
bond. This indicates that the state interest rate is 10%, which is the same as the market interest rate.
Hence, this is a bond issued at par. At the time of issuance, on January 1, ABC receives $50,000 in cash.
On June 30" and December 30", ABC paid $2,500 and $2,500 in coupon payments. Hence, the ending
balance is $50,000-$2,500*2=845,000.

T What effects would the accrual of $50 of interest on a note payable have on financial
statements?
i3 Balance sheet: Liabilities are decreased by $50
II. Income statement: Expenses are increased by $50
[II.  Balance sheet: Retained earnings are decreased by $50

IV.  Balance sheet: Cash assets are decreased by $50
V. Balance sheet: Liabilities are increased by $50
A) I, 11 and IIT
B) IL Il and V
C) 1L, IV and V
D) IL III and IV
E) IV and V

Calculation:

Interest is recorded on the balance sheet as an accrued liability, increasing liabilities by $50, decreasing
retained earnings by $50, and adding $50 to expenses on the income statement. Since no cash is spent to
pay the note or the interest, cash assets are not affected.

8. Operating leases differ from capital leases in that

A) For a capital lease the lessee records the lease payments as rent expense, but for an
operating lease the lessee reports the lease payments as depreciation expense.

B) For an operating lease the lessee depreciates the asset acquired under lease, but for
the capital lease the lessee does not.

C) Operating leases create a long-term liability on the balance sheet, but capital leases do
not.

D) Operating lease payments are generally greater than capital lease payments.

E) Operating leases do not transfer ownership of the asset under the lease, but
capital leases often do.

Calculation:

One of the 4 criteria of capital rather than operating leases (page 440 of the book) is that (1) the lease
automatically transfers ownership of the lease asset to the lessee at the lease-end. Operating leases never
have ownership transfer. Capital lease can and often do.

9. Why did people view stock splits as a good thing?
A) Firms received a tax benefit from more shares outstanding.
B) Managers believed their shares are undervalued and issue more shares.
C) Managers believed their shares are overvalued and issue more shares.
D) The liquidity of the stock increased.
E) There was an optimal price per shares that minimizes transaction costs.

This was explained to you by Prof. Watts during 2 classes.



Question 2 (12 points) Inventory

Two companies, the Lastin Company and the Firstin Company, are in the scrap metal
warehousing business as arch competitors. They are about the same size, and in 20X1,
coincidentally encountered seemingly identical operating situations. Only their inventory
accounting systems differed. Lastin uses LIFO, and Firstin uses FIFO.

For both companies, the beginning inventory was 10,000 tons; it costs $50 per ton. During the
year, each company purchased 50,000 tons at the following prices:

30,000 @ $60 on March 17

20,000 @ $70 on October 5

Each company sold 45,000 tons at average prices of $100 per ton. Other expenses in addition to
cost of goods sold, but excluding income taxes, were $600,000. The income tax rate is 40%.

A. Compute the net income for the year for both companies. Show your calculations.

Suggested Solution

In 000 LIFO FIFO

Inventory 10*$50+5 *$60=$800 15*$70=$1,050

COGS 20*$70+25*$60=%$2,900 10*$50+30*$60+5*$70=$2,650
In 7000 LIFO FIFO

Revenue $4.500 = 45*$100 $4,500 = 45*$100
COGS ($2,900) ($2.650)

Gross Margin $1,600 $1,850

Expenses ($600) (5600)

Earnings before Taxes $1,000 $1,250

Income Taxes @ 40% ($400) ($500)

Net Income $600 $750

B. What are the days in inventory for Lastin and Firstin?

Suggested Solution
Days in Inventory = 365/Inventory Turnover
Inventory Turnover = COGS / Average Inventory

In 000 LIEO FIFO

Average Inventory 0.5(10*$50 + $800) = $650 0.5(10*$50 + $1,050) = $775
COGS 20*$70+25*$60=5$2,900 10*$50+30*$60+5*$70=%$2,650
Inventory Turnover $2,900K/$650K = 4.46 $2,650K/$775K =3.42

Days in Inventory 365*$650K/$2,900K = 81.81 365*$775K/$2650K = 106.75



Question 3 (12 points) Property, Plant and Equipment
Required: Write your answer in the space below:

Botwin Corporation has decided to invest in the hydroponic plant growing business. To do so,
they must secure a production facility and purchase equipment. The CEO of the Corporation,
Nancy, has decided that she needs to build her own custom-made production facility. During the
year, she spends $500,000 for building materials, $300,000 to architects and laborers, fees
related to zoning and inspection for $50,000, and accrued interest payable equal to 10% on a
$1.5 million construction loan, which was secured on January 1, 2010. The building was finally
finished on September 30, 2010. On October 1, Nancy applies and receives approval for a 5-
year, $100,000 loan that she can use to purchase her equipment. The interest rate of the loan is
5%. Nancy uses the second loan to purchase the following equipment by October 31, 2010:
$10,000 in grow lights, $20,000 in exhaust blowers, $50,000 in air filters, and $10,000 in pots.

(a) Nancy wants to know, what amount of property, plant and equipment is capitalized on the
balance sheet on December 31, 20107

Suggested Solution:

Since the building is considered as a self-constructed asset, “a portion of the interest expense
incurred during the construction period should [...] be capitalized as part of the asset’s cost”
(page 354 of book). Interest capitalization period lasts for a maximum of 9 months (from Jan 1,
2010 to Sept 30, 2010).

Building (Property): $500,000 + $300,000 + $50,000 + 0.10*$1,500,000*(9/12) = $962,500

Since the equipments are purchased assets, any interest accrued is NOT capitalized.
Equipment: $10,000 + $20,000 + $50,000 + $10,000 = $90,000

Total PP&E: $962.,500 + $90,000 = $1,052,500

(b) The building is estimated to last for 20 years and Nancy decides to use straight-line
depreciation and estimate that her yearly depreciation expense is $45,000. Nancy decides
that double-declining balance method is a better way to calculate depreciation expense
for the equipment, which are only expected to last 5 years and the salvage value is $0.
What is the depreciation expense reported on December 31, 20107

Suggested Solution:
Building Yearly Depreciation: $45,000
Equipment Yearly Depreciation: $90,000%2/5 = $36,000

Building was constructed by 9/31/2010, so it was used for 3 months, so the depreciation expense
is $45,000%(3/12) = $11,250

Equipment was purchased by 10/31/2010, so it was used for 2 months, so the depreciation
expense is $36,000%(2/12) = $6,000

Thus total depreciation expense reported on 12/31/2010 is: $11,250 + $6,000 = $17,250



(c) Nancy’s business ventures are not as profitable as she had hoped. On June 30, 2011,
Nancy sells all of her equipment to Guillermo Garcia for $80,000. What are the journal
entries on Nancy’s book on this day?

Suggested Solution:
By 6/30/2011:
There are two alternative methods for depreciation:

Case 1:

Year Book Value Annual Dep. Expense Accumulated Depreciation
1 $90,000 $36,000 = $90,000*2/5 $36,000
2 $54,000 = $90,000 -$36,000 $21,600 = $54,000*2/5 $57,600 = $36,000 + $21,600

Year Annual Depreciation Expense Mon Computation  Reported Annual Depreciation
1 $36,000 2 2/12 * $36,000 $6,000
2 $21,600 6 6/12%$36,000 $18,000

Nancy accrues another 6 months of depreciation, but we count it as part of the 1* year’s
depreciation since she used up 2 + 6 = 8 months out of 12 possible. For the equipment, the

depreciation expense is $36,000%(6/12) = $18,000.

The total accumulated depreciation would be $6,000 + $18,000 = $24,000

Cash $80,000
Accumulated Depreciation  $24,000
Equipment $90,000
Gain on Sale of Equipment  $14,000 = $80,000 + 24,000 - $90,000
Case 2:
Depreciation Computation Reported Annual Months  Reported Depreciation
Year Depreciation
1 2/12 * $36,000 $6,000 2 $6,000
2 ($90,000-6,000)*2/5 $33,600 6 16,800 = $33,600%6/12

The total accumulated depreciation would be $6,000 + $16,800 + $22,800

Cash $80,000
Accumulated Depreciation  $22,800
Equipment $90,000

Gain on Sale of Equipment  $12,800 = $80,000 + 22,800 - $90,000



(d) On October 31, 2011, Nancy receives an offer from Esteban Reyes to purchase the
building for $1.5 million. She accepts his offer. What are the associated journal entries?

Suggested Solution:

By 10/31/2011:

Nancy accrues another 10 months of depreciation. For the building, the depreciation expense is
$45,000*%(10/12) = $37,500.

The total accumulated depreciation would be $11,250 + $37,500 = $48,750

Cash $1,500,000
Accumulated Depreciation ~ $48,750
Equipment $962,500

Gain on Sale of Equipment  $586,250

Or if you interpreted this as an executory transaction, then no journal entries are required. From
page 43 of the textbook: “Recall that a liability must be reported in the balance sheet when each
of the following 3 conditions is met:

1. The future sacrifice is probable.

2. The amount of obligation is known or can be reasonably estimated.

3. The transaction or event that caused the obligation has occurred.
When conditions 1 and 2 are satisfied, but the transaction that caused the obligation has not
occurred, the obligation is called an executor contract and no liability is reported. An example of

such an obligation is a purchase order.”

Hence, if you interpreted Esteban Reyes’s offer to purchase to Nancy’s building as an executory
transaction, then no journal entries are required.



Question 4 (16 points) Bonds

Required: Write your answer in the space below.

On December 31, 2009, Veridian Corporation issued $20 million of 4-year, 10% debentures.
The market interest rate at issuance was 8§%. On December 31, 2010 (after all interest payments
and amortization had been recorded for 2010), the company purchased all the debentures for $19
million. Throughout their life, the debentures had been held by a large insurance company.

1. Compute the gain or loss on early extinguishment.

Suggested Solution:

Step 1:
2009:

Step 2:

Step 3:

Compute the cash payments received during the inception of the bond, on December 31,

Two methods: Either through the present value of annuity and present value formulas or
present value tables.

py7 — 2000000 [1 i 4] 20»0001300 = 21,324,851
0.08 1.08 1.08

or PV = 2,000,000(3.31213) + 20,000,000(0.73503) = 21,324,860

I will use PV =21,324,851 for the remaining calculation (but you should have the same
solution with some rounding error)

So the journal entries at this point will be:

Cash $21,324,851
Bonds Liability $20,000,000
Bonds Premium $1,324.851

By December 31, 2010, we must first record interest expense incurred on the bond:
Interest Expense = (0.08)(21,324,851) = 1,705,988
Coupon = 2,000,000 since coupon payments are 10% of $20,000,000 paid annually.
The difference between the two is $2,000,000 - $1,705,988 = $294,012
So the journal entries at the coupon payment will be:

Interest Expense/RE  $1,705,988

Bonds Premium $294,012

Cash $2,000,000

We compute any gains or losses.
So far, we have bonds liability of $20,000,000. The bonds premium after the payment of
coupon is now: $1,324,851 - $294,012 = $1,030,839. Upon the early extinguishment,
Veridian pays $19,000,000 (credit cash). It will write off its bonds liability account of
$20,000,000 (debit bonds liability). Any associated premium or discount must be written
off as well, in this case, $1,030,839 (debit bonds premium). We compute any gains or
losses. On the debit side, we have $20,000,000 + $1,030,839 = $21,030,839. On the
credit side, we have only $19,000,000. Hence, there is an addition $21,030,839 -
$19,000,000 = $2,030,839 on the credit side. A credit to the retained earnings means that
there must be a gain. Thus, the gain on early extinguishment is $2,030,839.



2. What are the journal entries recorded on December 31, 20107

Suggested Solution:
Bonds Liability $20,000,000
Bonds Premium $1,030,839
Cash $19,000,000

Gain on Early Extinguishment $2,030,839

10



Question 5 (24 points) Leases

Bluth Frozen Banana Company is interested in leasing a machine and has identified the
following possible lease that it may acquire.

Lease
Lease term (nonrenewable) 5 years
Estimated Useful Life of Asset 5 years
Interest rate implicit in lease 10%
Annual end of year lease payments $150,000
Salvage Value of Asset $0

Prior to making this decision and without the lease information, Bluth Frozen Banana
Company has the follow amounts:

e (Cash: $1,000,000

e Accounts Receivable: $250,000

e Inventories: $500,000

e Accounts Payable: $900,000

e Wages Payable: $100,000

e Income before lease expenses: $350,000

e Income tax rate 35%
Prepare an independent analyses that includes the assets and liabilities sections of the
balance sheet and an income statement, as well as a comparison of return on asset and return
on equity ratios for Bluth Frozen Banana Company under 2 scenarios: with lease (for only
the first year of leasing) or without lease. Assume equity is $750,000 before considering the
leases and $700,000 when considering the leases.

Suggested Solution:

Step 1: Determine whether this transaction would qualify as a capital or operating lease.
Since the lease term is equal to the estimated useful life, we know that this must be
accounted for as a capital lease.

Step 2: Determine the present value of the lease.
When the machine is treated as a capital lease, we first must determine the present value

of the machine. So the present value is calculated as PV = 150,000 [1 - 1—115 = 568,618.

0.10
The following are the journal entries at the time of acquisition:
Leased Asset $568,618
Lease Obligation $568,618

Step 3: Determine the depreciation.
I assume a straight-line depreciation for the asset. Hence, depreciation per year is
calculated as il 113,724.
The associated journal entries for depreciation are:

Depreciation Expense/Retained Earnings ~ $113,724
Accumulated Depreciation $113,724



Step 4: Determine the interest expense

The interest expense per year is calculated as $568,618 x 10% = $56,862. However,
Bluth Frozen Banana Company pays $150,000 in lease. Therefore, the difference of
$150,000 - $56,862 = $93,138 goes to the lease obligation.

The associated journal entries for interest expense are:

Interest Expense/Retained Earnings $56,862
Lease Obligation $93,138
Cash $150,000
Original ;
Amount Adjustment Adjusted balance
Cash $1,000,000 $1,000,000 - $150,000 $850,000
Leased Asset $0 $568,618 - $113,724 $454,894
Lease Obligation $0 $568,618 - $93,138 $475,480
For without lease, it’s easy: just plug in the numbers at the correct spots.
Indicate your solution in the space provided below:
Balance Sheet
Assets
With Lease Without Lease
Cash $£850,000 $1,000,000
Accounts Receivable $250,000 $250,000
Inventories $500,000 $500,000
Leased Asset $568,618 L
Less: Accumulated Dep. ($113,724) -
Net Leased Asset $454,894 -
Total Assets $2,054,894 $1,750,000
Liabilities
With Lease Without Lease
Accounts Payable $900,000 $900,000
Wages Payable $100,000 $100,000
Lease Obligation $475,480 --
Total Liabilities $1,475,480 $1,000,000
Income Statement
With Lease Without Lease
Income before Lease Exp. $350,000 $350,000
Depreciation Expense ($113,724) --
Interest Expense ($56,862) -
Income before Taxes $179,414 $350,000
Less: Taxes @ 35% ($62,795) ($122,500)
Net Income $116,619 $227.500



ROA & ROE

With Lease Without Lease
ROA = [Net Income + Interest 116.619+56.862*(1-0.35) 227.500
Expense*(1-Statutory Tax 0.5(1,750,000+2,054,894) 1,750,000
rate)|/ Average Total Assets
ROE = Net Income / Average 116.619 227.500
Stockholders’ Equity 0.5(750,000+700,000) 750,000

Several answers were accepted for the computation of ROA and ROE including:
ROA = Net Income /Total Assets
ROA = Net Income /Average Total Asset
ROE = Net Income /Total Stockholders” Equity

The formulas of ROE and ROA are on pages 211 and 212 of the textbook. However, since there
are variations in the definition of ROE and ROA, we accepted other answers as well.



Question 6 (18 points) Stockholders’ Equity

Part A:

Pritchett Company had the following transactions during 2011:

Year 1:
Year 2:
Year 3:
Year 4:

Year 5:

Pritchett Company sells 20,000 shares of its no-par common stock for $15.

Pritchett Company buys 2,000 shares of its no-par common stock for $12 per share.
Pritchett Company declares and pays a dividend on its no-par common stock of $3
per share. The company’s basic earnings per share were $8 in the third year.
Pritchett Company declares and pays a stock dividend on its no-par common stock
of $2 per share. The company’s basic earnings per share were $9 in the fourth year.
Pritchett Company purchases 1,000 shares of available for sale securities on
January 1, Year 5, for $50 per share. By December 31, the available for sale
security has increased to $55 per share.

Indicate the effect (increase, decrease, no effect) of each of these stock decisions for each
year on the items listed below.

e Total Total Total EPS Operating
Assets Liabilities Equity Income
1
2
3
4
i
Suggested Solution:
Year 1:

Journal Entries:

Cash (TA) $15*20,000 = $300,000
Common Stock (1SE) $300,000

On page 506 of the book, the formula for basic EPS is given as the following:
Basic EPS = Net Income—Preferred Dividends

Weighted average number of common shares outstanding ~

Number of shares increased, which means EPS decreased.

Year 2:

Journal Entries:

Treasury Stock (| SE) $2%12,000 = $24,000
Cash (|A) $24,000

Number of shares decreased, which means EPS increased.

Year 3:

Journal Entries:

Dividends/Retained Earnings (| SE) $3*18,000 = $54,000
Cash (|A) $54,000



Number of shares remains the same, which means EPS is not affected. Income is not
impacted as dividends are NOT part of the income statement.

Year 4:
Journal Entries:
Dividends/Retained Earnings (| SE) $2*18,000 = $36,000
Common Stock (1SE) $36,000
Number of shares increased, which means EPS decreased (See page 502 of book).
Income is not impacted as dividends are not part of the income statement.
Year 5:
Journal Entries:

Available for Sale Securities (TA)  $50*1,000=$50,000

Cash (lA) $50,000
Available for Sale Securities (TA)  $5*1,000=$5,000
Unrealized Gains on AFS Securities (TOCI) $5,000

Number of shares remains the same, which means EPS is not affected. Unrealized gains
flow through Other Comprehensive Income, which is part of Stockholders’ Equity. Any
unrealized gains or losses for AFS securities do NOT impact income.

e Total : thgl- Tot-al EPS Operating
Assets Liabilities Equity Income

1 Increase No Effect Increase Decrease No Effect

2 Decrease No Effect Decrease Increase No Effect

- Decrease No Effect Decrease No Effect No Effect

4 No Effect No Effect No Effect Decrease No Effect

5 Increase No Effect Increase No Effect No Effect

15




Part B (Unrelated to Part A):

On June 24, 2010, Waldorf Fashion Company announced that the board of directors has
authorized payment of a regular quarterly cash dividend of $0.15 per common share. The
quarterly dividend is payable on October 26, 2010, to shareholders of record as of the close of
business on October 5, 2010. What are the relevant journal entries for the events on June 24,

October 5, and October 267 Assume the number of shares outstanding as of May 31st is
400,000,000.

Suggested Solution:
$0.15%400,000,000 = $60,000,000 of dividends will be paid out by Waldorf Fashion Company.

June 24, 2010:
Dividends/Retained Earnings $60m
Dividends Payable $60m

October 5, 2010:
No journal entries are required.

October 26, 2010:
Dividends Payable $60m
Cash $60m

16
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Statement of Cash Flows

A MP(JQJ (loss

Housekeeping

15.501/516 Corporate Financial Accounting
Fall 2010
Lecture 19

Professor Ross Watts
Sloan School of Management
Massachusetts Institute of Technology

MITSloan

mARAGER IR

Cash Flow Statement - Review

" Exams
» Will be returned on Wednesday

" Reading
= Dyckman Chapter 4
" Today's slides
« Available on Stellarsince Friday

® Problem set 5
= Due December7

® Final exam
« December 14

Cash Flow Statement - Review

* In Lecture 3 we prepared a Cash FlowStatement from the Balance Sheet

Operatingactivities:

A 4 : Cash sale of 4 8,000
Equation spreadsheet for Joe's Landscaping direct method): e e
Cash payments lorexpenses (5) $9,000)
Net cashfrom operating activities ($1,000)
Cash+ AR + PP&E = LP +C.Cap+ RIE Investingactivities
(1)  +s10,000 +$10,000 Shars sale Purchase of equipment(3) ($5,000)
(2) +$3,000 +$3,000 Borrowing Net cashfrominvesting activities ($5,000)
(3) -$ 5,000 +$5,000 Equeement Financing activities.
(4) +58000 +54,000 +512,000 Servics Borrowings(2) $3,000
(5) -$9,000 -$ 9,000 Expanses Owner contributions (1) $10,000
(6) -$ 1,000 -$ 1,000 Owidend Payment of dividends (6) ($1,000)
Total $ 6,000 $4,000 $5,000 $3,000 $10,000 § 2,000 Net cashfrom financing activities $12,000
Increasein cashbalance $6.000
Cash balance atbeginning of year $0
3 Cashbalance atend of year $6,000 .

Cash Flow Statement - Review

MITSloan

manaa(miny

Operating Activities

® Measures change in cash account between two

balance sheets

® Breaks cash inflows/outflows into three sources

* Operating
* Investing

* Financing

B Primary activity of business
= Selling goods
® Providing services
= Manufacturing
= Cost of Sales
= Advertising
= Paying employees
= Paying utilities



Investing Activities Financing Activities

B Obtaining/selling resources or assets to

5 : o s
operate the business Borrowing creates liabilities

= Bank loans

= Land =
ildi = Debt securities

= Buildings P N ’

= Vehicles oods on credit or payables

= Computers . . ’ -

= Fumniture Selling stock creates stockholders’ equity

= Equipment = Sales of stock
= Paying dividends

LTI

MiTSloan

manbrminy .
More generally Cash Flow Statement - direct method
Operatingactivities:
» g s
OPBmtmg aclivities Cash saleof services (4) $8,000
* Changes incurrent assets & currentliabilities Cash payments forexpenses(5) (89,000
Net cashfromoperating activities ($1,000)
® Investing activities Investingactivities
* Changes inlong-term assets Purchase of equipment(6) (85,000)
Net cash frominvesting activities. (85,000)
® Financing activities Financing activities
* Changes inlong-term liabilities & equity Borrowings (2) $3,000
‘Owner contributions(1) $10,000
® Changes can be increases or decreases Paymentof dividends (6) (§1.000
Net cashfrom financing activities 312,000
Increasein cash balance $6,000
Cash balance atbeginning of year 50
® Cash balance atend of year $6,000 1

—_—
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Indirect Cash Flow Statement Indirect Cash Flow Statement

+ Most companies use the indirect method « Direct cash flow from operations is cash

- Only difference with the direct cash flow statement inflow less cash outflow from operations
is presentation - Indirect cash flow from operations starts

« Change in cash is identical in direct vs. indirect with net income

« Presentation of investing & financing sections is * Net income is adjusted for all non-cash
identical in direct vs. indirect accruals related to operations to arrive at

cash flow from operations

Presentation of operating section is different but
change in cash from operations is identical in direct + Non-cash operating accruals are generally
vs. indirect captured in current assets & liabilities



Indirect Presentation Practice %

» Company sells $4M of product on credit & the
account receivable is still outstanding at year-end
- Effect on cash?

« Effect on net income?

+ To start at net income & end at cash flow from
operations, what must one do with this item?

Indirect Presentation Practice HE

+ Company buys $7M of inventory that remains unsold
at year-end. The account payable is paid during the
year.

« Effect on cash?

+ Effect on net income?

» To start at net income & end at cash flow from
operations, what must one do with this item?

Indirect Presentation Practice B

» Company sells $8M of inventory that was
purchased & paid for during prior year

+ Effect on cash?
- Effect on net income?

« To start at net income & end at cash flow
from operations, what must one do?

-
JTITIIT
. . - MITSloan
Indirect Presentation Practice
» Company collects $1M for product sold last year on
credit
« Effect on cash?
+ Effect on net income?
+ To start at net income & end at cash flow from
operations, what must one do with this item?
2z,
J T
Indirect Presentation Practice -

« Company sells $2M of inventory that was
purchased and paid for during year

« Effect on cash?
« Effect on net income?

» To start at net income & end at cash flow
from operations, what must one do?

Inventory changes & OCF adjustments

...buys $7M of inventory that remains unsold
+ Inventory change?

Income adjustment to obtain operating cash flows (OCF)

« ...sells $2M of inventory purchased during the year
+ Inventory change?

Income adjustment to obtain OCF?

...sells $8M of inventory purchased during prior year
= Inventory change ?

Income adjustment to obtain OCF?



BANASENINT

Indirect Presentation Practice

» Company pays $3M for advertising this year
« Effect on cash
« Effect on net income

 To start at net income & end at cash flow
from operations, no adjustment necessary

-
[T
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Indirect Presentation Practice D
« Company pays $9M for wages expensed
during prior year
+ Effect on cash
« Effect on net income
 To start at net income and end at cash flow
from operations, must subtract $9M for
decrease in accounts payable
: ; -
Summary of net income adjustments
MITSloan

for changes in non-cash current assets & liabilities

® Increase in non-cash current assets
* |ncrease in accounts receivable deducted from Net Income (slide 13)
* |ncreasein inventory deducted from Net Income (slide 15)

® Decrease in non-cash current assets
= Decreasein accounts receivable added to Net Income (slide 14)
® Decreasein inventory added to Net Income (slide 17)

® Increase in current liabilifes
* Increasein wages payable added to Net Income (slide 20)

® Decrease in current liabilifes
= Decreasein accounts payable deducted from Net Income (slide 21)

Indirect Presentation Practice

= Company incurs $5M of wages payable for
wages expensed in current year

- Effect on cash
« Effect on netincome
« To start at net income and end at cash flow

from operations, must add $5M for increase
in wages payable

maEARINLET

Wages payable changes & OCF adjustments

+ ... incurs $5M wages payables for wages expensed in
current year

+ Change in wages payable?
« Adjustment to obtain operating cash flows?

* ... pays $9M for wages expensed during prior year
» Change in wages payable?

« Adjustment to get to operating cash flows?

Net Income adjustmentsfor I
Depreciation & amortization

» Company recognizes $6M in depreciation
expense

« Effect on cash
« Effect on net income

» To start at net income & end at cash flow from
operations, must add back $6M for depreciation

expense



Gains & Losses on sale of assets

= Company sells an asset for $2,000
®= Purchase price was $10,000
* Accumulated depreciation$9,000

® \What is the gain/loss on sale?
= Effect on operating cash flow?

= To start at net income & end at cash flow from operations must
deduct gains on sale & add back losses on sale

Calculate Operating CF

Depreciationwas $160,000
AR decreased by $350,000
AP decreased by $280,000

Net Incomewas $2,500,000

Net Income

Adjustments to reconcile net income to net
cash provided by operating activities
Depreciationexpense
Accounts Receivable decrease
Accounts Payable decrease
Net cash provided by operatingactivities

Calculate Operating CF

Depreciationwas $45,000

Loss on the sale of anasset $5,000
Net Incomewas $195,000

AR decreased by $15,000

Prepaid Expense decreasedby $4,000
AP increased by $17,000

NetIncome $195,000
Adjusiments fo reconcile net income to net
cash provided by operating activities
Depreciationexpense
Loss on the sale of anasset
Decreasein accounts receivable
Decreasein prepaid expenses
Increase in accounts payable

Net cash provided by operatingactivities -

Calculating OCF (Indirect method)

n
Py

AR= declined by $80,000

Prepaid Expense = increased by $28,000
Inventory= increased by $30,000

NI = $200,000

Net Income $200,000
Adjustments to reconcile net income to net

cash provided by operating activities
Decrease in accounts receivable
Increase inprepaid expenses
Increase ininventories

Net cash provided by operatingactivities $222,000

Calculate Operating CF

Depreciationwas $70,000
Loss on the sale of anasset $12,000
Net Income was $280,000

Net Income $280,000
Adjustments to reconcile net income to net
cash providedby operating activities
Depreciationexpense
Loss on the sale of anasset

Net cash provided by operatingactivities

Indirect Method

® Most companies favor the indirect method

for the following reasons:
= Easier to prepare

® Focuses on differences between net income &

net cash flow from operating activities

= Tends to reveal less company information to

competitors

= Over Ninety-eight (98.8)% of companies use the

indirect method



Steps in Preparing SCF

Step I: Determine net cash providediused by operating activides by converting
et income from an accrual basis to 3 cash basis,

This 1tep involves amalyzing not only
e current yeac's income 1atemen
but 410 comparsune Balance sheets
andd selected addwonal data.

Step 2: Analyze changes in noncurrent asset and labilicy accounts and record as
veesting and fnancing activides, of 11 significant noncash transactions.

M| —
7 T This suep invotves analyzing comparauve
i rmputge tosenud
i
‘\' - “'_pl

indormution lor thaie effects on cash.

Step J: Compare the net change in tash on the statement of cath fiows with the
change = the cash account reported on the balince sheet to make sure
the amounts Jgree.

+ The éfferance betwoen the beginning,
or = andd ending ¢ash batances can be easly »
@ cormputed hom compacaive batance
sheets

Income Statement and
Additional Information

COMPUTER SERVICES COMPANY
Income Statement
For the Year Fnded December 31, 2007

MITSloan

mLvaerH(NT

Reventics $507,000
Comt of guwals sokd £140.500
luding depreciation) 111,000
(]
sale of equipment 3000

Intesest expunss ; 42000 $313,000

Inconse hefore fncome L
Inconse fax evpense

A

Additional information for 2007:
1. The compmany declared arad pand » 329,000 canh dividend

2. Issasend $110.000 of Jong term bends in direct e hange for bard

3. A buildimg contim: $120.000 wias parchased lor cash. Lguipment costing $25.000
also prrchered for canh,

4. The comg ipment with a book value of $7.000 (cost §3.000, less
astcumutsted depreciation $ 10003 lor $3.000 cash,

3. basued common stock for 820,000 cash.

o Depreciation expense was comprised of $6,000 for building 21 $3,000 for

cquipime

Adjustment of Depreciation (step 1)

Cash flows from operating sctivines
o $145.000
nents tu reconcile net income to net cash
wided by opernting netivities:
Depreciation expense 2,000
Net caush provided by operating activitics £154,000

Step 1 in to converting Nl to CFO ==&

Net Cash Provided/
Net Income  +/— Adjusiments = Used by Operating
Activilies

* Add back noncash
expenses, such as
depreciation expense,
amortization, or depletion.

* Deduct gains and add
losses that resulied from
investing and financing
B Ivilies,

+ Analyze changes to noncash
current asset and curvent
liability accounts.

2
COMPUTER SERVICES COMPANY
Comparative Balance Shrets
December 31
Change in
Account Balance
Cunent weets
Cash $ 55000 S8 000§ 22000 Increase
Acctaints rec ¢ 20000 30000 10000 Decrone
Merchand 15000 10,000 3000 Increase
Piopand eapnses 5000 1000 5000 Increase
Propeiy, plant, and equipnient
Land 130,000 0000 Increase
Bui kb 140,000 120,000 Incrvase
Accunwkted depreciation—bui {11000) 5,000 lncroase
Equipment 27.000 17.000 Increase
Acoumulbated depreciation—egquip 2000 Increase
Total
Liabilities and Stockholders' Equity
$ 28000 $ 12000 F 16000 Increase |
000 5,000 2,000 Devreas:
Bords payable 130000 20000 10000 Incrcase
Stnckholden’ equity
Common T.000 20,000 Incresse
ined carnings e 116,000 Incrvaise
I liabilities and stickbolden’ aguity 33
Adjustment of Loss on Equipment (step 1)
Cash Mows from operating netivities
Net inconre $145,000
AdustaIents 10 reronc 1 incnme 10 pet cash
provided by operating activitios.
Depreciation expense $9.000
3,000 12,000
Net cash provided by operuting activities S157,000
3



Adjustment For Changes in
Current Assets (step 1)

Cash flows [rom operating activities
Net income 145,000
Adjustments to reconcile net income 1o net cash
provided by operating activities:

Depreciation expense 3 9.000

Loss on sale ol equipment 3,000

Decrease in accounts receivable 10,000

Increase in merchandise inventory {5.000)

Increase in prepaid expenses {4,000) 13,000
Net cash provided by operating activities £158,000

Adjustment For Changes in
Current Liabilities (step 1)

Cash flows from operating activities
Net income $145,000
Adjustments 1o recancile net income to net cash
provided by oparating activities:

Depreciation expense § 9.000

Lass on sale of cquipment 3,000

Decrease in accounts receivable 10,000

Increase in mnerchandise i {5,000)

{4,000)

Increase in accounts payvable 16,000
Decrease in income tax payable {2.000) 27.000
Net cash provided by operating activities $172,000

»
COMPUTER SERVICES COMPANY
Statement of Cash Flows —Indirect Method
For the Year Ended December 31, 2007
Overview of Step 1 Adj ustments Cash flows from opesating sctisitics
Net incume $ 145,000
Adjustments 16 reconcike set income t net cash
provided Iy operating acnsities:
Depreciation expense 5 w000
Step1 —= Luss on sale of oquipment 3,000
Decrease in icvounts ¢ he 10.00(H
Adjustment Reguired Increase in merchandise imentory (5.000)
ta Comvert Net Inconae Increase in prepald expenses 14,000}
e Nel Cah Increase 1s penvable 16,000
o 3 :d““ Devrease oane tax paysble (2.00m 27,000
FProvided by Net cash primided by operating acthvities V72,000
Cash oavs from invasting activities
i Depreciation expense ¢ of building 120,000
Noncash Patent amartization expense hase of equipnient 25,0000
charges Dicubetices ySpiis \dd Sale of equipment i 000
ot : ash usod by favesting activities (141,000
Gains 5 Luss on sale of plant asset c‘:;h Tows i.:m qumiv:;: T-n“.;.-. oo
and losses 1 Gas ssuanee of Commaon s 2
| Gamn on sale of plant assct Payment of cash dividerds 129,000
Changesin | Increase w current asset acvount Net cash used by Financing sctivities 19000
currenl asscis rease il CUMTCRE asset aocount Net increase in cash 22000
and i Incresse in current liabi Sootnt Cashi at begir ol perind REXLV
current liabilities { Docrease in current Labilits account Dethuct Cash at end of periesd $, 35000
» Noncush investing and financing activities
tssuance of bonds payable w purchase land £ 110.000

Income Statement and I
Additional Information

Relevant additional information

COMPUTER SERVICES COMPANY
Income Slatement
For the Year Ended December 31, 2007
ivi Y
Revenyes 507,000 Dividend €5
Camt of yowals sald $150.000
Dpe expenmes few luding deprviation) 115,000
Depreciation eapense 000 Bonds No
Lums 00 sale of equipment
Interest cxpense _32.000
Incoms hefore invome Ly T .
Tncomte rm cxpeme Building & equipment purchase Yes
Nt pncome
Sale of equipment Yes
Additional information for 2007:
1. The company declared and paid 3 §29,000 cash dividend i
2. Issund 10,000 of Jong1crm bonds in dir whange tor lind Common StOCk Issue Yes
Inf 3. A building costing $120.000 wirk purchased for cash, Eguipanent coating 325,000
as sl purchsed for cash, A t
forSep2 |4, The company seld quipment with a biok valie of $7.000 tcost $3.000, less Depreciation expense Already adjusted
— accunulsted deprociation $1,000) lor $34.000 cash,
3. bsued common stock for 20,000 cash,
o Depreciation expense was comprised of 36,000 for buiiing and $3.000 lor
wxquipement. n °




COMPUTER SERVICES COMPANY

Comparative Balance Sheets
December 31
Change in

Account Halance
Aseats 2007 2006 lacresse/Decrease

Curtent assets
Cash $ 35000 $ 33000 § 22,000 Increase
Accounts receivable 20000 0000 10000 Devresse
Merchuindise imventry IS000 10000 8,000 Increase
cpand exprnses 5,000 1O 4,000 lncrease

Property, plint. and equipment

130,000 20000 110,000 Inciease

/ Building 160,000 40000 120,000 Incivase
Accunwilated deprecistion—building (11000} (S0001 6,000 Increane
Information Equipiment 27000 10000 17,000 likrease
for Step 2 Accumulated depreciation—cqulpment_ (L0003 (1000) 2,000 Increase
“Total s 0 5134000
Liabilities and Stockholders’ Equity
Cunven liabilines
Accounts pavable 225000 S 12000 § 10000 Increase
Income iy payable €000 8,000 2,000 Dexrrise
Leng-term Labilives
Boads payable 130,000 20000 110,000 hikrose
\«.u- hlers” evpuity
Common stock TOL0G 50,000 20,000 Increase
Retained camings 0 116,000 Incrvase

Total abilithes and stexhiwdders’ aquity 3393000

Significant Noncash Activities...

® That do NOT affect cash are NOT reported in the
body of the statement of cash flows.

® |ssuance of common stock to purchase an
assets.

® Conversion of bonds into common stock.

= |ssuance of debt to purchase assets.

= Exchanges of plant assets.

Step 2

COMPUTER SERVICES COMPANY
Statement of Cash Flows —Indirect Mcthod
For the Year Ended December 31, 2007
Cash flows from operating activities
Net incomme § 145,000
Adjustments 1o recuncile net income to pet cash
provided by o
Depreciation axpense S 9000
Loss v sale of 3,000
Decrease i 10,000
Increase in marchandise imventony 000}
Tocicass in propald expenses 14,000)
in accounts payable 16,000
¢ in income tax payable (2000 27,000
wsh prosided by operuting sctivities 172,000
Cash lows from investing neivities
Purchise of builds (120,000
Purchase of exipmient 25,0001
Sale of cguipment 4000
Net cash used by investing sctivitics {141,000)
Cash floavs from financing sctivities
Issuance of common stk 20,000
Pavment of ash dividends 1290001
Net cash wsed by financing petivities
Net increase in cash
Step3 = Cash at beginning of peried 13,000
Cash at vndd of poriod $, 53000
Noncash investing and financing activities
Issnance of bunds payable to purchase land £ 110000

Significant Non-cash Activities...

B Are reported:

® |n a separate schedule at the bottom of the
statement of cash flows or

® In a separate note or supplementary schedule
to the financial statements.
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Fall 2010 B Reading
» Dyckman chapter 5, pp. 205 - 207 '
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B Slides

= Put on Stellar Saturday

® Problem set 5 !
® Due December fl Q (@/fgo{/“)q)
Professor Ross Watts

Sloan School of Management ® Final exam
Massachusetts Instituteof Technology = December 14
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Slosn 3
Agenda i Capital Markets
1
® This lecture wl
= Fundamental analysis
= Relation between accounting performance& economic performance

= \What real activitiesdrive the firm's retumn on equity (ROE)?
= Whatis the firm's strategy?

= How long are strategies successful? ; Financial
Intermediaries

Information

Intermediaries
B Next lecture

= QOverview of ratio analysis
= Share valuation and sustainable income

i G
Gt @ el for flo ¥ (0, Tuhmed

oy bl et fi ahw)
fim e %eh«g v

MITSloan .
What is financial statement analysis? == Fundamental analysis
e
® Financial statements are a primary source of ® |s the process of using '["wluf 5%/& b e c(ﬂ!ﬂ
information about corporations & their investments 2 K:ﬂwiedue of a firm's business 4 ﬂ
= Analysis of the firm's financial statement information
® Financial statemenz analysis |5Mé§ y professional * including footnotes
investors & analysts
= To answer their questions about firms to s
* To help value a firm for trading purpose s *® Forecast the firm’s future payoffs (cash flows) &

® Value the firm's securities

= WWW e e e e
= Wt P/Oépecb e ™ o 433 ot info |



CoF fo Lo, 1o b5 TR
Knowledge of the firm's business

*» Products

« Life cycle stage
« Campetin |- o Yeial Comd ot ition
= Customers

» Comparative advantage
PR 1 i

- Regulatory constraints h‘<@'\ dﬂ.&“% ¢

= Strategy

Some. wlusir 7 Sdles (- ppoded
Loy Maath

Impact of Product Life Cycle on Cash Flows

(<]

2

o
3 /
o
[T
g ° N
] ratin,
8 Operating

s

4

z Investing

Introductory  Growth Maturity Decline s
Phase

Assessment of competitive situation

B Accounting net income helps assess the firm's
competitive situation

® If an industry is competitive

~flim by o m}nh“aﬁ

® |f a firm is earning an above competitive rate of return
given the risk (economic profits or rents), we have to as

L I+ g g dodh
Look at ﬂlnandwl

ot il

not ffg@_\_ﬂww‘ ate of ek

Financial reports & business assessment

® By looking at the company's realized financial numbers
(cash flows, financial ratios etc) we can assess:

= Firm's life cycle stage (see Lecture 20);
= Competitive situation in the firm's industry;
® Firm's competitive advantage (if any); &

= Whether the firm's strategy is successful given those
situations

LJ (h gg’} é@,q ﬁ/\ /gtpwfo :

Life cycle stage

® Tells what to expect in terms of firm’s attributes

® For example

Gowth P[O5F€L
Cash Flow ’0/@1%)

Using accounting net income
to assess competitiveness

PO‘;? accounting profit?
5

® Economic profit is the residual income after deducting
the product of d €,
= Competitive rate of retum given the business’ risk & (

* The value of the nel resources lnvested in the business 6 gﬁ' "0 #’h
in Toreof cle f F
evenue -

® Accounting profit or net i mcome

® What is a major difference between economic & /%

e whie b o pracet fhat

Cont %lt)o\/e Cgﬂlﬁd we
(’low lﬂﬂg v"t LJF Zﬁbbf

penses

Taleidy Cowed [Hn g 0 of “’/h’/d ] et cesures



Traditional ROE decomposition %

rat

AR assel Fumwer

Returns and strategies in the retail industry

This would give the following ROE decomposition:

NOPAT _ Sales  Net income e
x
Safes  Assers  NOPAT

ROE = Assers

Shareholders' equity

= net operating profit margin x asset tumoverx eamings leverage x financial leverage

How do the ratios vary over time?

Identify which firm is which? TJ Max,, J C Penny & The GAP

Ux o GﬁP

ROA ROSx ATR

ROE 0 380 0 134 0 237 € )

ROA 0129 0.041 0.113 X Won — }7(9 LUJ"
ROS 0.041 0.036 0.071

ATR 3.149 1.136 1.596 &OE

LEV 2.955 3.250 2098

LWL Ty DY Mﬁﬁd&o drwf}
Nighe ROEN Pt ATR

le‘(./p/(l/ 137 Lﬂl

Time Series Properties of Ratios
Evolution of Retum on Common Equity Over Time

= Returns (ROA, ROE) & Sales growth mean

revert :
What causes the reversion?

Comp(Fion !

= Policies or strategies (LEV, ATR & ROS) are
relatively stationary in the short-term

//‘l? (N
“ch/ms £

Time Series Properties of Ratios
Evolution of Retumn on Net Operating Assets Over Time

why dir Y Clms
" ‘19’1

Figurs da: Evohation of ROCE Guar T
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af Acct. Snadies, Apeil 2001}
=
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Rosgls ek ROE

Time Series Properties of Ratios
Evolution of Sales Growth Over Time

Figues db: Evohstion of RNOA Over Time

| WHL } gp
Jt/ffl'mﬂ
‘W@d
'}weﬁéf‘w

Vaar Rassmres 1 Prrvteis ot Yon

from: Nussim and Penman: Ratio Analysis and Equity Valuation (Review of Acct. Studies, April 2001)

Figurs 6a: Evolution ol Sales Growth Rats Over Trwe
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Relation between Economic & Accounting Profits Relation between Economic & Accounting Profits Mar [ij({’
“ate
i—(‘{ ][U /}\M OV" O\ Define rate of return on equity, ROE: ROE =NI/BVE
Economic Profit = Accounting Profit — Charge for'cost of equity capital NI = ROEx BVE
RI = NI-r, " BVE L\Wﬂ@, This allows us to re-write residual income:

where Rl is residual income, NI is/net income (earnings), rg is the cost of

; : : RI = NI —r,-BVE =(ROE -r.)-BVE
equity capital, and BVE is the bogk value of shareholders' equity

To add to shareholder value — to have a positive economic profit—

bML Va[ug 01[ ; a ‘{;,;,,; tmusr achieve ar RO.E} at least as hi%h as its cost of equity
ety ™ Qlonl e s pY(ess

“ECMJ Fo brzo}\ vile \ "Myt hpe @ Q@naﬂc‘C f’f"ﬁ'}"
of Lim (of waldt price) o add b chathlle, vl

) Tivlybs left
( waeé-) STy

B Traditional ROE decomposition
Assessment of competitive situation

See Lecture 13

What real business activities drive ROE?
Step 1: Is ROE driven by operating activities or financing?

How can we determine that from financial statement analysis? . )
ROE = ROA x Financial leverage =

v v

By decomposing ROE into its components, we can judge each Net income Assets

component s contribution to

profitability (ROE) &
risk (which influences the cost of capital, ry;)

X
Assets Shareholders' equity

Measwe O‘F
: loverag .

fod Vs ity owme dowel
X _”P\D/g_ {n 300& T‘(/"@)

Tt S S na L % Traditional ROE decomposition

See Lecture 13

i lysis:
Step 2: operating activities Refining the analysis.

Inconsistency: ROA (s we defined i) bas o denomiinggor that inclades assets clainted by off
providers of capital 10 the fim {aquity and debt holders). whereas the numerator only inclides
‘el e ¢ income to equity holders {i.e.. iucome after interest expensel. A way 1o remedy this s the
ROA=ROS» ATR-. et licome._ Sales falloviny definiion
Sales Assets
_ NOPAT (Net Operating Profit After Taves) _

RO4
Assers
For referenceback to Lecture 13 slide 24
ROS = Retum onSales or Profitmargin Net income + Interest expense x (1-tax rate)
=
ATR = Asset tumoverratio Assets

This is a common definition of ROA (some refer to it as “pre-interest ROA”).

o fh dQH . (j(’;]' ave \/W}ah“:l/ (/
I oquby et
b/c é@“ pazlé 4 K
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Time Series Properties of Ratios @

Evolution of Leverage (LEV) Over Time

Frnpars o Evalidron of FLEV Oves Time

R, - Conglyf

Jrom: Nissim and Penman: Ratio Analysis and Exuity Valuation (Review of Acct. Stadies. April 2001) =

Combinations of Strategies
Effects of Profit Margin & ATR on ROA

Figure A ROA. I'rofit Margin and
Assetl Turnover

)

1 IRireoces in

Yo Urotit Manan
N, Aset Turnover Mix

7~

Prowit Margin

Wifterenae
o in RUA
—

-
ROA =i
HCIA = 70
RUA =51

At Turmemr 5\
=

Company Analysis %

B Strategy & competition?

® Where would we expect to see the effect of those
dimensions in the financial statements?

" |s it possible to “beat” the typical patterns?
= combine high marginswith high tumover?

b@w\ 2) 'ﬁe Samé_

nqll o quaphs — Sl i

Time Series Properties of Ratios
Asset Tumover Ratio (ATR) Over Time

Figue b Evoluion of ATO Over Tine

Ao

> s
Yes Rt 1 Partiein § armiion ¥ ot

from: Nuswm and Penman: Ratio Analysu and Equity Valuation (Review of Acct. Snadies, April 2000) »

Combinations of Strategies
Effects of Profit Margin & ATR on ROA

- ih """"""""""" ¢ low ?’U/nWQ(k
Elbe b high o o ol
% -Fg \. ........... .. fm(ﬁl ﬂ\[i; ;/?f(/

- avoid the ‘mean reversion'? (at'\ \/‘U )Dedf" hﬂ CU[ (/Q

® What are the key characteristics? [VQ Q/CJ 1»0 Q\K‘P l
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